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Jull marks for the questions.

Answer either in 'English or in Assamese.
1. ‘Ans_wer the following questions:  1x8=8
fsfiRe emreenr Se fax ¢
(a) State the law of demand.
oifzn R e )

(b)) What is a market ?
R e

() What is market supply ?
@R e o

(d) What is inflation ?
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() What are the component§ of aggregate (/) Why is a firm said to be a ‘price taker’
' demand ? in perfect competition? -
0 B A IR Qe =2
In the consumpt; i i : :
- ption function what 1S . . .
: total consumption when income is (d) Explain briefly the concept of
Zero ? : consumers’ surplus with a suitable
(O Tewe Wy ' & ,IFI? © - example. '
G Giv w ot et § B! I BAIZIR (10O THiTeIeIT B el
9 .Crlve'an €xample of progressive taxation 1263 I 1A
In the context of India. ive Hicks’ defi
SRR (osips TR < Erraad (e) Give Hicks’ definition of income.
i R IR iR et g =4
(h) Define figcq; defi () What constitute the domestic territory
?T(ETFQ » ICit In a budget of a country ?
S M3 et fet G (PR = SETs [ R swge zwe
Answer any siy ¢ the following questions (99 What is the condition for equilibrium
I &4 ox6=12 in an economy ? ' :
i;ij“g”% TRR Repiy &1 e o ¢ 93 GLOT SRS 56 Ree
@) What is e Interpret Y = C +1 i ant
: ant by econg ncy ? () Interpre in the ex-ante sense.
W%mﬁwqrﬁ;, mic efficiency Y = C + I eropfrosia ol 4
(b) beﬁne 4 - ‘. ’ o .
< Marging i) When is a tax said to be buoyant?
Rat, n : v |
(MRT), € of Transformatio AR T, @foq e IOl & @
R A 2 '
T AR s f
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| Q) D'iffefentiate‘ between a direct tax and
‘ an indirect tax,

g @‘*;WW QT W AL T2

‘ An an.
swer yfour of the following questions :
5x4=20

““E“*seﬁpﬁﬁﬁ Rietzant sifa5re Bes faml 8

(a P
) oint °‘-1t the distinction between shifts

in th
alo € demand curve and movements
Ng a demand curve,

'. Bﬁ?"0¢m3%wwsﬁwe¢mwn§maww$sﬁ%ﬂs?ﬁa
mﬁml _

. (b) What 1s meant

of demanq » by cross price elasticity

What will f
the will be the sign ©
elastlclty in cases when the twoO

ood:
gre csoare of substitutes and when they
Mpliments ? 342=5

@jﬁw Wﬁmﬂw{%{mﬁ
mm% *Rofs Al e @2

(© R
c) Bring out thye
between a pz maln points of distinction

and monopolgrfectly competitive market

o
e e o e
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How is the market demand curve
derived from the’ individual demand
curve ?. Explain diagrammatically.
Jfsers 51w (@R #1381 IS HIRANCIA (P
Sievear «Aifk 2 oag TS TP T

Define unemployment. How is the
unemployment rate calculated ?
2+3=5

’Wﬁ\wﬁmlﬁa@ammﬁw'
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What is a Multiplier ? Illustrate its
operation using an illustrative example.

_2+3=5
s R Wﬂﬁ TS TN R T
3

What is ‘tax’? Mention a few important
features of taxation. 1+4=5

T3 50 399 fogam 37 wWRE. SEw =i

Explain regressive taxation with the
help of a diagram. State two ments of
regress1ve taxation.. - 3+2 5

B TS TrgIA I 4Rl TG | €
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4. - Answer any two of the following questions :
- | © 10x2=20
e enrres Ao g e fort s

-+ (@) Explain the idea of opportunity cost.
Define and draw Production Possibility
Curve (PPC) ? What do points outside
. and’ points inside the PPC signify ?
o ‘ 3+3+4=10
RIS IR QIR G B | A SR ([T

@l f Ba st @@ @imeR R O
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(b) . Explain how equilibrium is determined
- in a competitive market ? Under what (
. conditions will the equilibrium be'-
stable ? 7+3=10

TSI, TS SR s Wt B
= I | R 56 @} ©ry Afm 29

.{c) Describe the circular flow of Income in
an economy. '

aﬂa<ﬂﬂﬁﬁ?3vm§aéﬁﬁ§eﬁﬁ@=¢ﬁnaﬁﬁl

DistinguiSh between the current
account and the capital account of the
balance of payment. Describe the
components of the current account.

4+6=10

(@)
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(e)

-is the revenue account different from

—— |
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Describe the structure of a budget. How R
that of the capital account? 6+4=10

Qe AR Rl | e Bptet o
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